rt = e
K
[mcz JTC
d4
Jmc-da = ¢
from TC o me 2 ol‘-ﬁ,uuMh'd-L %.
me bo Te o (g ) @GS
Ex: me ¢ 3Q R’m»lTC- WW’AZ,LMZ’Q
RNe knons ME* O.ldl;
d e
) — -1/3&
44 dn = o |
dic = 3&-0‘&1 §
T lefvrn Lofu,, S @
SO‘L": 35&.0(@\ IC s
Te * 28" 4 1¢
R
- L = (W("“"’(
o, 7"’/3g+F" 1e =Fe Covt

QO - 3xDL F(
0 I~
/?\\J/(\ an - =~ 2 &A1



=
Find Hat TR funchion.

MK:Q—-O%Q
A7/ - :
N~ sl

A
W /T&. < (2""“3"“2

(B -
i .Z

08 know .
| ;7£. Q=2
fhum TA=0

o= O +1c
o B % ‘.:.'.-D‘

"-6/'7",2(!-0-2&1'
7 2
| 4 tiax "—'ﬁ“"*‘-‘(—"(]("‘"h""‘

-

1 RS, = T gt
D 0’aea' PN e
> peing b



- abE = V) — ! AL o oves
e = v A J NAZE vy Fi begank

A 22
£

j 2-1 7 @A+l
f-%% 20 =
) l g =q v
-~ L)

L R e e
Qo f = lL

\,
_ (244 GJ&AQ &1
0 y?° L]z'—' 3L
afel, -8 )
e






